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1. In the combustion of butane 72gm of H20 is produced. The amount of butane taken initially is [X] x 10-".

The value of 'X' is
Ans. 464

Sol. CaH1g + % O = 4002 + BH20

CrHzni2 + | i l0, - nCOz+ (n+1) H:0
J

b

- 1 mole CsH10 produces 5 mole Hz0.
5 mole (5 x 18) = 90 gm.
90 gm — 58 gm

2gm —

‘ HxT2] _ g gm

&

2. A+B=— 2C.
Initially 1 mole each of A, B and C are taken in 1 litre vessel. Equilibrium constant is 100. The

concentration of C at equilibrium in [X] x 10-'. The value of 'X' is

Ans. (25)
Sol. A + B=>2C Kc=100
t=10) 1 1 1
I=teq 1=X 1-X 1+ 2%
2
o (1+Ex,:2
(1—x)
s v
100 = DLL of [C]
(1-x)
10 = i1+ 2x)
(1-x)
Mo D
4
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3. In the leaching of Bauxite. which Oxide is leached out using NaOH. &
(1) FexOq (2) AlOg (3) TiO2 (4) SiO2
Ans. (2)

Sol. Al2O3 .xH20 + NaOH == NaAlOz

leO

Al{OH)s + NaOH

Al (OH)s 1200K 5 104
(pure)

4. Among the given oxides
(i) CrOa (i) V20s (1)) FezOa (iv) MnOz
The correct increasing order of oxidation state of metal is

(1) (i) < (ii) < (i) < (V) (2) (i) < (i) < (i) < (W) (3) (i) < (iv) < (i) < (i) (4) (i) <(iv) < (i) < (i)

Ans. (4)
Sol.
Compound Oxidation state of metal
(i) CrQOs +6
(i) V205 +5
(iii) Fe:0a +3
(iv) MnO2 +4
5. Find the concentration of Fe** (10 ml) required to reduce 15 ml of 0.1M K2Cr207 Solution is:
Ans. 059
Sol. Cr207% &+ Fe2t — Fe+ 4+ Cri+
15 ml 10 ml
01 M
N1V = NEVE

15x0.1x6=10xM x 1

KA ™M ™ R _ 8
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6. Arrange the following ions in the increasing order of size, Na-, K+, Mg+=, Al1+3,
(1) Ai? + < Mg2+ < Na® < K* (2) K* <Na*<A/® + < Mg2+
(3) A® + < Mg2+ < K < Na* (4) Mg2+ < < Ard <K< Na*
Ans. (1)
Sol. K+ = Na* {moving down the group size increases}
Na + > Mg+ > Ar° {Isoelectronic species}
zZ 11 12 13
E 10 10 10
7. Henry's law constant for COz in water in 0.835 x 2 x 10° bar. How many milimoles of COz would dissolve

in 0.9 litre water? Assume CO:z gas exerts a partial pressure of 0.853 bar.
Ans. 25

XCDE —[}5 4 1{]_3
Number of moles of water = %%q =50

n ’
O — 052107

ﬁc{;.z +r‘IH;_,D
(Neo, In denominator is neglected as it is << 50)

Neo, = 0.5 x 10-9 x 50 = 25 = 10~ moles

= 25 milimoles
8. Which of the following does not exist.
(1) SiFs* (2) SiCle* (3) GeCls*> (4) Sn(OH)e*

Ans. (2)

Sol. The main reasons are :

@ Resonance Eduventures Limited | Toll-Free 1800-258-5555 | (0)744 2777777, 2777700 | contact@resonance.ac.in | CIN - US0302RJ2007PLC024029

%37 PM

L Type here to search O S5 MM 9 A g D) NG oo, L



& Mews Dashboard - CollegeDekho X M Inbox (887) - sakunth.kumar@co X JEE Main 2027 (Juby/3rd Atternpt X JEE Main 2027 April (July/3rd Atr X ﬁl JEE Main 2021 Question Paper 5. X | + Q - x

(& @ resonanceacin/answer-key-solutions/JEE-Main/2021/jeemain.aspx?uid=5172355528key=JAETFplPTSQ1zp2iLHul 1T - G
Hesonance’ | ee mAIN-2021 | DATE : 25-07-2021 (SHIFT-1) | PAPER-1 | MEMORY BASED | CHEMISTRY
9. Which of the following complex is active in magnetic field.
(1) [Fe(H20)s]** (2) [Co(CN)g]>- (3) [Ni(Co)<] (4) [Ni{CN)4J*>-
Ans. (1)

Sol. Fe’; S
If will contain 5 unpaired electrons.

Thus it is paramagnetic and atiracted in external magnetic field.

10. Empirical formula of a given octahedral complex is CrCla.3NH3.3H20. It precipitates 3 moles of AgClL

What is the secondary valency of central atom.

(1)4 (2) 3 (3) 1 (4) 6
Ans. (4)
Sol.  [Cr(NHa)a(H20}]Clz + AgNO3s — 3AgCI L
White ppt.
11. For a process AHrusion = 2.4 |.Cal mol-' and DHvapoision = 98.6 k.Cal mol-'. Then AHsusimaion (0n Kcal mol-') :

Ans. 101 K.Cal mol!

Sol. AHsubiimation = AHvap + AHtusion
=986 +24
=101 K.Cal mol-
12. Which of the following statement is correct :

(1) H—H bond strength is equal to D-D bond strength.
(2) H-H bond strength is half of D-D bond strength.
(3) H—H bond strength is double the D-D bond.
(4) H—H bond strength is less than D-D bond strength
Ans. (4)
Sol. H-H bond denunciation energy 435 KJ/mol
D-D bond denunciation energy 450 KJ/mol
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13. Which of the following about micelle formation is correct for sodium stearate [Ci4 Has COO-Na+]
1) Micelles formed are spherical with hydrocarbon part towards the centre of sphere

) Micelles formed are spherical with hydrocarbon part lying outside

[ I %

) Micelles formed are Non spherical with hydrocarbon part towards the centre of sphere

4} Micelles formed are Non-spherical with hydrocarbon part lying outside

(
(
(
(
(

Ans. 1)
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micelle
Sol. Stearate co
Wi -
Wiiler —R5 =5 5= _ Fer b,
¥
14. From the graphs given below. Select the correct statements.

1= 1 - ,
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14. From the graphs given below. Select the correct statements.
A A
12 fz
> : >
Concentration Concentration
(1) (11)
T M /]\
Concn Concn
> : >
time time —>
(111) (IV)
(1) 1, 111 — First order ; 11, 1V — Zero order
(2) 1, 1V — zero order ; 11. 111 — First order
(3) I, 1l —zero order ; 111, IV — First order
(4) 1, IV— First order ; 11, IV — zero order
Ans. (2)

Sol. A= (A)o— Kt : Zero Oder

(“RAa:
tz= | —%
=)

A = Ape " : First oder

n2
tic=—

K
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15. Which of the following protein is soluble in water?
(1) Albumin (2) Fibrin (3) myosin (4) Collagen
Ans. (1)
Sol.  Itis globular protein (water soluble)

16. Which of the following is not used for drying agent?

(1) ClzC = CClz (2) Liquid CO2 (3) H202 (4) CCls
Ans. (1)
17. CHsMgBr react which of the following to give methane gas?

(1) H=S (2) H0 (3) NHa (4) All of these
Ans. (4)

Sol.  Grignard reagent act as strong base.

18. Number of & bonds
CH:—-CH=CH-C=CH
Ans. (1)
19. Given structure is
o H:C‘@» CH;‘@*CH;‘@'GH;W
(1) Buna-N (2) Bakelite (3) Novolac (4) Styrene
Ans. (3)
Sol.  Novolac is linear polymer.

H H
—w@&
Br
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M
21 aivig r}{m HCI/H=0 > (B)

O
I
() 0"
OH OH
CHa
{31\/\'/
(3) (4)
OH OH
Ans. (2)
22. Assertion: Primary aromatic amine can't be prepared by gabrial-thalamide method.

Reason: Aryl halide cannot be undergo nucleophilic substitution reaction.

(1) Assertion-1 is True, Reason-2 is True; Reason-2 is a correct explanation for Assertion-1.

(2) Assertion-1 is True, Reason-2 is True; Reason-2 is NOT a correct explanation for Assertion-1.

(3) Assertion-1 is True, Reason-2 is False.

(4) Assertion-1 is False, Reason-2 is True.
Ans. (1)

23. Which of the following react with NaHCO3 and evolved COz gas.

OH OH H H
O:zN NO:z CHs OH
(1) (2) (3) (4)
NO2
Ans. (1)
4. CHyCHO/NaOH | »  (1)l,/NaOH _ g

(2) H* /H,0

o E -CONH - ﬁ, . ot
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(2) Assertion-1 is True, Reason-2 is True; Reason-2 is NOT a correct explanation for Assertion-1. -
(3} Assertion-1 is True, Reason-2 is False.
(4) Assertion-1 is False. Reason-2 is True.
Ans. (1)

23. Which of the following react with NaHCO3 and evolved COz gas.

OH OH H H
O:z=N NO:z CHs OH
(1) (2) (3) (4)

NO2
Ans. (1)
4. CH;—CHO/NaOH , A _ (1)1/NaOH ., B
(2) H* 1H.0
COCH
(1) (2) COOH
CHO
(3) (4)
COCH
Ans. (1)
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